2 Service Parts List V:045-0004.01
R 30 RCP Evolution Multi-Material Cutting Reciprocating Saw




No. | Description Part Code Qty No. | Description Part Code Qty No. | Description Part Code Qty
1 WORK PIECE SUPPORT 045-0170 1
2 | RECIPROCATE SHAFT 045-0171 1
3 | CROSS HEAD SCREW ST4*20 045-0172 6
4 | BAFFLE 045-0173 1
5 | BAFFLE SPRING 045-0174 2
6 | BAFFLE SCREW 045-0175 2
7 | LUBRICATION PAD 045-0176 1
8 | UNDERSLIDE RAIL 045-0177 1
9 | UPPERSLIDE RAIL 045-0178 1
10  SLIDE RAIL CLAMP 045-0179 1
11 | CROSS HEAD SCREW M5*10 + WASHER 045-0180 2
12  GEAR SUPPORT 045-0181 1
13 | BEARING 608-2Z F-B-608-2Z 1
14 | INTERNAL CIRCLIP - 22MM 045-0182 1
15 | BEARING 6000-2Z F-B-6000-2Z 1
16 | GEAR 045-0183 1
17 | SHAFT 045-0184 1
18 | SMALL SHAFT 045-0185 1
19 | SHAFT SLEEVE 045-0186 1
20 | EXTERNAL CIRCLIP ®7 045-0187 1
21  PLATE 045-0188 1
22 | COVERPLATE 045-0189 1
23  CROSS HEAD SCREW M5*14 +WASHER 045-0190 5
24  WASHER 045-0191 1
25  BAFFLE FAN 045-0192 1
26 | FIBREWASHER 045-0193 1
27  DUST WASHER 045-0194 1
28  BEARING 6000-2RSR F-B-6000-2RSR 1
29 | ARMATURE 120V US 045-0236 1
30  BEARING 607-2RSR F-B-607-2RSR 1
31  BEARING RETAINER 045-0197 1
32  FIELD COIL 120V US 045-0231 1
33 | CROSS HEAD SCREW ST4*53 F-TFPX-4-53-ST-BO 2
34 LED COVER 045-0200 1
35  LEDLIGHT PCB 045-0201 1
36 | LEFTHOUSING 045-0202 1
37  RETAINERRING 045-0203 1
38  CROSS HEAD SCREW M4*6 F-SPHPZ-M4-6-ST-BO 1
39  SCREW COVER 045-0204 1
40 | RIGHT HOUSING 045-0205 1
41  RELEASE LEVER 045-0206 1
42  CROSS HEAD SCREW ST3*12 F-TFPX-3-12-ST-BO 3
43 | CROSS HEAD SCREW ST4*16 F-TFPX-4-16-ST-BO 12
44  MAIN HOUSING 045-0207 1
48  BRUSH PLATE 045-0211 2
49 | ROTATING LOCK SWITCH 045-0212 1
50 | SPRING 045-0213 1
51  LEFT HANDLE 045-0214 1
52  SPEED SWITCH 120V 045-0233 1
53  VOLTAGE TRANSFORMER 120V 045-0234 1
55  CONNECTION BLOCK 045-0218 1
56 | CABLE CLAMP 045-0219 1
57  CABLESLEEVE 045-0220 1
58  POWER CABLE 120V USA 045-0226 1
59 | RIGHT HANDLE 045-0224 1
60  CARBON BRUSH ASSEMBLY (120V) 045-0235 2

Service Parts List V:045-0004.01
Evolution Multi-Material Cutting Reciprocating Saw



